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QUESTION 1

Which would be a valid architectural decision when using the Cloud Pak for Integration for a multi-cloud design goal?
A. Deploy the Cloud Pak for Integration on IBM Cloud and Cloud Foundry

B. Deploy the Cloud Pak for Integration on IBM Cloud and Amazon Web Services

C. Place the Cloud Pak for Integration proxy nodes in separate subnets

D. Place the Cloud Pak for Integration master nodes in separate subnets

Correct Answer: A

QUESTION 2

Which statement about the Container Storage Interface (CSI) drivers is true?

A. They can be included as part of the container image for applications to access storage

B. They are integrated into the core OpenShift deployment

C. They are installed and configured in the host machines where the master nodes will run

D. They are typically shipped as container images and have to be installed by a cluster administrator

Correct Answer: A

QUESTION 3

Which mechanism is available in IBM Event Streams to help with disaster recovery by replicating topic configuration,
messages of a topic, and metadata from an origin cluster to a destination cluster?

A. Geo-configuration
B. Geo-datasync

C. Geo-recovery

D. Geo-replication

Correct Answer: D

QUESTION 4

Application owned asynchronous capabilities, like messaging and events, must exhibit which features to align to agile
integration paradigm?

A. Simple deployment topology for high availability configuration
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B. Ability to convert message to events and vice versa
C. Self-provisioning and self-administration capability to allow development agility
D. Common collection of logs across several instances for rapid administration

Correct Answer: A

QUESTION 5

An OpensShift v4 control plane node has failed. Which is the recommended method to restore the cluster?
A. Restore all cluster master hosts from a previous backup

B. Remove the member from the etcd cluster and then add the member back to the etcd cluster

C. Remove the member from the API server cluster and then add the member back to the API server cluster
D. Run the master-restore script provided as part of OpenShift 4

Correct Answer: D
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